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General Instructions :
Read the following instructions very carefully and strictly follow them :

(V)

(i)
(iii)
(iv)
(v)
(vi)

(vii)

This question paper comprises four Sections A, B, C and D. This question
paper carries 36 questions. All questions are compulsory.

Section A — Questions no. 1 to 20 comprises of 20 questions of 1 mark each.
Section B — Questions no. 21 to 26 comprises of 6 questions of 2 marks each.
Section C — Questions no. 27 to 32 comprises of 6 questions of 4 marks each.
Section D — Questions no. 33 to 36 comprises of 4 questions of 6 marks.each.
There is no overall choice in the question paper. However, an internal choice
has been provided in 3 questions of one mark, 2 questions/ of two marks,
2 questions of four marks and 2 questions of six marks. Only one-of the choices
in such questions have to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 markeuch.
Question numbers 1 to 10 are multipie choice type questions. Select the correct option.

&
2 —1\@>3
1. The matrix | A §§ is not invertible for
-1 4
A r=-1
B) r=0
) r=1
(D) reR-{1}
2. The number of arbitrary constants in the particular solution of a
differential equation of second order is (are)
A 0
B 1
C) 2
D) 3
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3. tan~! (tan % ) <Rl HIH %

(A) g
(B) g
(C) g
o

4. Ua® smiywe % Hom 9 FEa gema &3 % SHE 65 (0, 0), (4, 0), (2, 4)
qAT (0, 5) 3 | AE z = ax + by, &l a, b > 0 T fehan T fawgatl (2, 4) a0

(4, 0) ST W&, a1
(A) a=2b

(B) 2a=b K\@
(C) a=b ‘Z§§
(D) 38a=bh @Q\Q
Q 5. . 1 1 ,
5. A A 3R Baw%az:rrq%, &l P(A) = o T P(B) = 2, @ P(B'|A)

TR 3

1
(A) 1

1
® 3

3
© 7
D) 1

6. ICATH I ML L AMAZ=AT, AT -A)3 + A TR g

A I

B 0

C) I-A

D) I+A
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The value of tan—! (tan %) is

(A) g
(B) g
(©) g
o

The corner points of the feasible region determined by the system of
linear inequalities are (0, 0), (4, 0), (2, 4) and (0, 5). If the maximum value
of z = ax + by, where a, b > 0 occurs at both (2, 4) and (4, 0), then

(A) a=2b

(B) 2a=Db

(C) a=b \\QQQ
(D) 3a=b %5

%
If A and B are two 1r@sendent events with P(A) = % and P(B) = i , then

P(B' | A) is equal to

1

(A) 1
1

B -
(B) 3
3

(®) 1
(D) 1

If A is a square matrix such that A2=A, then (I-A)3 + A is equal to

A I
B) 0
) I-A
D) I+A
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X
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2
e
@
B 1
1
©) 5
D) —oo
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$
A 0
B 1
_2
©) ry
(D) ‘73
10. IHGA z = 0 % @aaq a1 fog (-1, 5, 4) 9 T ATl @ H1 A FHH
BT
(A) ?=—/i\+5‘/].\+412+7\,(/i\+'/].\)
B) T =—i+5] +@+n)k
© T =i-5)-4k+rk
D T =ik
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e
7. I log x dx is equal to
1

2
e
(A) 5
B) 1
1
() 3
(D) —oo

8. A point P lies on the line segment joining the points (-1, 3,2) and
(5, 0, 6). If x-coordinate of P is 2, then its z-coordinate 1s

A -1

(B) 4

o 3 N
2 K\Q

(D) 8 D

&
A
9. If the projection of @ 1i—2j+ 3k on b = 21 + Kk is zero, then the
value of A is

A O
B 1
~2
(C) Y
-3
® =

10. The vector equation of the line passing through the point (-1, 5, 4) and
perpendicular to the plane z = 0 is

RN A A A A A
(A) r =—1i+5j) +4k +A(i+j)
- A A A
(B) r =—i+5j +4+0Mk
- A A A A
©) r =i-5j -4k +1 k
D T =1k
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I\/9 4x2
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Fill in the blanks in question numbers 11 to 15.

11. The position vectors of two points A and B are CYA = 2/1\ - 3\ - 12 and
O_B> = 2/i\ — 3\ + 212, respectively. The position vector of a point P which
divides the line segment joining A and B in the ratio 2 : 1 is

12. The equation of the normal to the curve y2=8x at the origin is

OR

The radius of a circle is increasing at the uniform rate of 3 cm/sec. At the
instant when the radius of the circle is 2 c¢m, its area increases at-the rate

of ecm?/s.

13. If A is a square matrix of order 3 and A-- is the cofactor of the element
then Value Of a21 All + a22 Alz + 323 A13 1s
OR

If the matrix A is both symmetric and skew symmetric, then A is a

IJ’

14. A relation R in a set A iss@ﬁ;d , if (ay, ag) € R implies
(ag, ay) € R, for all ay, a, ’
S

15. The greatest integ@mction defined by f(x)=[x],0<x<2 is not
differentiable at x %Q 4

Question numbers 16 to 20 are very short answer type questions.

16. If A is a square matrix of order 3 and |A|= 2, then find the value of
|- AA'|.

17. Two cards are drawn at random and one-by-one without replacement
from a well-shuffled pack of 52 playing cards. Find the probability that
one card is red and the other is black.

18. Evaluate:
3

I|2X—1|dx

1
19. Find:

dx
L/g _ 4x2
|.65/1/3 | P.T.O.
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20. El'l_dﬁ'%m:

I x4 log x dx
HAYAT

j 2x dx
3\/X2+1
ECLCRC|
J97 G&IT 21 & 26 TF JoIF Jo7 2 37hl H7 8 |
21. T TEH G § T S Gk @lRW a IR b % oweed @, @

— -
a=5:+6) -2k 3M b=71+6] +2Kk.

Ao
wmwwmmﬁﬁqmﬁwwza _b @asc

™

22. I f(x) = \tanx B, £ (” ]meﬁﬁm

23. 3TdhA BT YN ik, /253 1 HHHe AW cIHAT & ol TAHT dh F1d
HIT |

24. U ¥ 98 X W, g o<ft fyer <l wilkrehdt 30% 2 | 39 =@ X WA |
g TR &t T &6 s<ht & faem Y wilReear = g 2

25. fag HifSu fe -

sin! (2x /1-x2)=2cos! X,

1

— <xX<

J2
AT

f:R, - (7, ), f(x) = 16x% + 24x + 7 G IRATVA Teheh! 3N =BEh B
W fomm i, S&f R, 941 gATcneh Tt H@ATstl Sl 9= 8 | B £
Yfel® Bl F1d I |

26. k1 98 M J1d hifore f&eh fie Wl x = — y = kz qef
x—2=2y+1=—z+1qm-a§iqtaw%‘|

65/1/3
" Download all NOTES and PAPERS at StudentSuvidha.col


http://studentsuvidha.com/
http://studentsuvidha.com/

20. Find:

j x4 log x dx

OR

SECTION B
Question numbers 21 to 26 carry 2 marks each.

%
21. Find a unit vector perpendicular to each of the vectors a ‘and b where

—> N A N —> A A N
a=5i+6] —2k and b=7i+6j +2k.

OR

Find the volume of the parallelopiped whose adjacent edges are

> o -
represented by 2a ,— b and 3 ¢, where

A Q
g)=/i\—3\ +2®:§\
- A (g A
b=3i+$ -5k, and
QA
C=o % sk

2
22. If f(x) = \/tan Vx , then find f’ (’;—6] .

23.  Using differentials, find the approximate value of v253 up to two places
of decimals.

24. The probability of finding a green signal on a busy crossing X is 30%.
What is the probability of finding a green signal on X on two consecutive
days out of three ?

25. Prove that sin~! (2x \/1—x2 ) =2 cos™] X, 1 <x<1.

J2
OR
Consider a bijective function f: R, — (7, «) given by f(x) = 16x2 + 24x + 7,

where R is the set of all positive real numbers. Find the inverse function

of f.
26. Find the value of k so that the lines x =—y =kz and
x—2=2y+ 1=-2z+ 1 are perpendicular to each other.
65/1@ P.T.O.
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27. TH HAlal AN U GURT I Tl a1 HRAAT A1 gH1 o6 T | FHom
Hr g | Faw & T 35k 9@ T 50,000 & R 3Heh 918 Afehad 35 TEqaii
I W & oI TIH 3IUetey B | T PHT T T God T 1,000 F Th T
%I Ued T 2,000 8 | 9 AR I Teh HE d=ehl T 150 9 Teh U ol oEeh
T 250 W1 1Y A BT 8 | 3uYh GHEN o foru rferepan @y <1fia e &
foTu wp IRgss T THET ST TR ATE fOfy & g @l gd. i |

2
28. ZIﬁx:a(e—sine),y:a(l—cose),a>0%,?‘ﬁG:gtﬂj—giﬂﬁ
X
hifoTe |
3
29, Wsﬁlﬂm%mﬁj‘exdx 1 HH T hIoE |
1

N
30. 4 %% Lo IR T | ST H 3 e e 5 el 7 ¥ e 49 1A

4 A g1 3 el e & g@%’lﬁ@énﬁwﬁamzwmﬁaaﬁw
7 IR dIeavard It 11 HGE U Tie Ages (el St 8 | Afg I8 Freeredt T8
Tig Sreft fig 2, A E@HRa S i F FA T F B B TR I
HIT |

AT

Th HeA¥ H 5 AT, 2 The qT 3 Hic! Tie & | Ueh-Ush ohieh, o1 TICETIT o,
39 AW § 3 T AGeDAT HehTelt Sl & | Whg Tl shl HEAT I WTRIehdT &
3rd hIfsre | TerTedl 75 Tthe Tel <l Tt 1 "1 9 yEor | Jd i |

31. 37ahd GHIH y eY dx = (y3 + 2x eY) dy T STUh & JTd hIT |
star

FTaehel FHTET x d—y=y—xtan (Xj,ﬂﬁx:l‘ZI'{y:%%,aﬂﬁﬁTQéﬁ

dx X
EIcEAIE I
32. WHT N Whd H&AT3AT &1 9= 2 | 699 R, N x N “(a, b) R (¢, d) I¢ 3R
Wﬁad:bc,mﬁ a,b,c,de N%%I'Q”Q'IT[EI'&’JT&H% |ﬁ@@%ﬁs’m
R U qoIdl 469 7 |
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SECTION C

Question numbers 27 to 32 carry 4 marks each.

27. A furniture trader deals in only two items — chairs and tables. He has
T 50,000 to invest and a space to store at most 35 items. A chair costs
him ¥ 1,000 and a table costs him ¥ 2,000. The trader earns a profit of
T 150 and T 250 on a chair and table, respectively. Formulate the above
problem as an LPP to maximise the profit and solve it graphically:.

. d2y T

28. If x=a(0-sin6), y=a(1--cos0),a>0,then find g ato = 3

3
29. Evaluate I e* dx as limit of the sums.
1

30. There are two bags, I and II. Bag I contains 3 -red and 5 black balls and
Bag II contains 4 red and 3 bl balls. One ball is transferred randomly
from Bag I to Bag II and t@ a ball is drawn randomly from Bag II. If
the ball so drawn is fou 0 be black.in colour, then find the probability
that the transferred 1s also'black.

$ OR
An urn contains 5 red, 2 white and 3 black balls. Three balls are drawn,
one-by-one, at random without replacement. Find the probability

distribution of the number of white balls. Also, find the mean and the
variance of the number of white balls drawn.

31. Find the general solution of the differential equation

y e dx = (y3 + 2x eY) dy.

OR
Find the particular solution of the differential equation
X d—y=y—xtan (zj, given that y = T atx=1
dx X 4

32. Let N be the set of natural numbers and R be the relation on N x N
defined by (a, b) R (¢, d) iff ad = bc for all a, b, ¢, d € N. Show that R is an

equivalence relation.
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WUE g
J97 G&IT 33 G 36 T b 97 6 37h] HT & |

33. fo@mu o BT r 3 $98 h & TR IF o TG AT AT h
AT o T SATE, WP H HaTs hl Uh-faEs 7 MW S 1 Afeehay

W,%%W?ﬂ%?ﬁm%l

34. THTHCE fOfT O Wao y = 3x2dM W1 3x —y + 6 = 0 & s9 R &5 &
FFhe AT HITT |

35. 39 GG 1 THIHW {14 shite, e foamg A2, 1, - 1)o@ 2 den St swaet
2x +y—z=3 N x+ 2y +z =2 Tldesed W1 & Ar&Aq @ | Ied qHAA
J y-318 % = 1 w0 off 71 AR |

AT

W T =Bi-2] +6k)+121a] +2k) dm AT T .(0- ] + k)=6
%WWQ@%@P&‘@,%JH&@WW|%@TPQwaﬁm
wfieor ot g | S
1 2@@Q\Q-3
36. I A=1[3 2 2| B, @ Al @ i AR R T HH
2 -1 1
frafefaa e fem =1 7a 71a Hifs
Xx+2y—-3z=6
3x+2y—-2z=3
2Xx —y+z=2
A
TR o TOTEHET ST TEIT sk, firg i T

b+c)? a2  be
c+a)2 b2 ca|=(a-b)(b-c)(c—a)(a+b+c)@2+b2+c2)
@+b?2 2 ab
| .65/1/3 | 14 .
Download all NOTES and PAPERS at StudentSuvidha.col


http://studentsuvidha.com/
http://studentsuvidha.com/

SECTION D
Question numbers 33 to 36 carry 6 marks each.

33. Show that the height of the right circular cylinder of greatest volume
which can be inscribed in a right circular cone of height h and radius r is

one-third of the height of the cone, and the greatest volume of the

cylinder is % times the volume of the cone.

34. Using integration, find the area of the region enclosed by the.parabola
y = 3x2 and the line 3x —y + 6 = 0.

35. Find the equation of the plane that contains the point'A(2; 1, — 1) and is
perpendicular to the line of intersection of the planes 2x + y — z = 3 and
X + 2y + z = 2. Also find the angle between the plane thus obtained and
the y-axis.

OR
Find the distance of the poi ‘bﬁ%(— 2,'=4, 7) from the point of intersection
N A A AA A

Q of the line r = (ijéz?j +6k)+ M2i—j +2k) and the plane

- N A A QY . . .
r .(i—-j +k)=6. writethe vector equation of the line PQ.

$

1 2 -3
36. If A=|3 2 —2 [, then find A1 and use it to solve the following
2 -1 1
system of the equations :
X+2y—-3z=6
3x+2y—-2z=3
2x —y+z=2
OR

Using properties of determinants, prove that

(b + c)2 a2 be
c+a)2 b?2 cal=(@-b)(b-c)(c—a)(a+b+c)(@2+b2+c2).
@+b?2 2  ab
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